4 children describe their birthdays.

My birthday is the first Mo =

day of the second
= month.
Mo

Teddy =
h (g] —_
| was born on the 15t " Eva =
of June.
Teddy
a Dora =
| was born on the last
@ day of the year!
Eva
| was born two days
before Mo. L
Dora

Can you work out their birthdays and
order them from earliest to latest in the
year?

Su Mo | Tu |We | Th | Fr | Sa

1 2 3 4 5 6

7 8 g |10 1|12 |13

4 (15 | w17 |18 19 | 20

21 | 22 | 23| 24 | 25| 26 | 27

28 | 29 | 30 | A

In this month, there are no school
holidays.

In this month we have to
come to school for 31 ©

days. Teddy

Do you agree with Teddy?
Explain your thinking.
Which month could it be?



& The clock shows ten
4 |
minutes to 3

Dora

The hour hand is not

quite pointing to the 3, @

so it must be tento 2
Amir

Who do you agree with?
Explain your thinking.

This clock has lost its minute hand.

What time could it be?
Justify your answer.



Dora is telling the time from an analogue clock.

The hour hand is pointing to XI
the minute hand is pointing to XII

What time is it?

Sort the times from latest to earliest.
5:30 p.m. 9:45 am. 9:45 p.m. 10:23 am.

7:31am. 10:13 p.m. 8:30 am. 6:32 am.
12:24 am. 8:55 p.m. 211 am. 740 am.



| slept from 8 p.m. to 8 a.m.

e

o

[

Dora
| slept from 8 am. to 8 p.m.

&

Teddy

Who is more likely to be correct?
Explain how you know.

The board shows the times of trains
arriving and leaving the train station.

Arrives Leaves
London | 5:50 am. | 6:00 am.
Edinburgh | 800 am. | 820am.
Manchester | 2:33 pm. | 2:45 p.m.
Leeds | 7:31p.m. | 7:35 p.m.

Ron's watch shows the time he arrives at
the station.

Which train could he be catching?
Explain how you know.



